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Graph the following quadratic functions. Label the vertex, the axis of symmetry, state the domain
and range, identify the end behavior, and zeros. )nleopi—

Verter Foran CAnewn LY—ULP "T_brv\f\ 1 C’\“Q”‘éﬁ C,V\Cuf\faﬂ
B y—w . h(r)——(x+4)(x 6)
ey a8 s, -u L
L wep T2 we ~Hals &g
Z HL—Z’) s ) = |
31 942) -18 Y= g(l—rur)(\-lo):-. *5:(5)(—?‘)5
A A L £
Vertex: (3 ZL Vertcx;<l Y
\ A= A
Axis of Sym: X" it J ¢ / Axis of Sym: X = |
- l?_ l‘ _f\ c - Domain: R // 5 * - Domain: R
] \ N .l 2 - < 7 [
i I 3 Range: 2 2 a Range: = iy
m+ *v h‘\ 3 v | Lﬁ
YA ~ Zeros: (- 2 =3 Zeros: (s, ©) %QQ(@
S —0 ( "/ D
Mmy—>_ asx—-—wand y»_ asx—w ) h(x)—)iaoas x — —0 and h(x)—)"fas xX—w
6’1’;&\ﬂd6\rt)6 “ v .
Ly _g_ +éc+c 4. g(x)=x"-3 Vertex  Focmn
Z2-
=5 -1 5 _ = e
A7 b/Qc._ = /-ZCf()_ /2 ',: 5’(xmo> 3
((j F=(V2) 4 () * %—S— e E
Aol d e A Q/’CD ; _@
\\\ Vertex:@- S, - 25—) N i Vertex{(); “g)
I
¢ .
: Axisof Sym: X =O.S5 - Axis of Sym: X=0O
.,j{ l Domain: F[ZL D4 : Domain: R
}y d Range: Ej 2 (.25 Range: z-3
B Zeros: Zeros:(-@,bj ".: (\Elo)
y—>__asx—>-wand y— =89 as 53 g(x)—>+_as X — -0 and g(x)—fﬁoas X—> @
-
| 20—95 > Solve by N

Zeos = Fadoo

— (x%-%-0G) 2 _
~(x- 3)(‘/&?__\ 'ﬁ\?
3

Y= X ==-Z_ )(-;

\+



% pact oS e Vertex

Tell whether the function hasla minimum or maximum value,}md then find the min/max value

(E 1
5. y=2x*-8x+10 6. y=—;(x+4)(x—5) -~
e X:-b/Zm
e e
B G- R T T 2
X=  f2a" 2y [ %

- o B B N .2
s atatoio b Yroz(z+dE-s = R
3’3(2) -8 (2)+| ___l — %

\ 2
qut\g1 th?folloéving function in both vertex form and intercept form.

7. y=x2+8x+12 [{\*e(_u?\_ V.Formkd = ( %*%32*“]'
C\i@f—\'@/’t ﬁ)mD 'Fb_d-:—im | ILForm W) = (X "'9\)( X’\'Ka)
Mflcv‘rﬂ the

)(2"“"'% >&'H'2,

5 g 11
grmﬁ{l% i J(%ET 12
ol T =
Y4 = x*rextlo (x )% te) '
sy
3 %Lgt:tl%gﬁr}wing function in standard form and vertex form. o
8. y=-3(x+2)(x-1) S.Form(.é""‘"'5?Q "3)( "fa(a
\/Q,rm F:O('q,-\ 29
S'VCMC&C*“& Co nle ke I V.Foml(j: B~z ?’*Zr"
r \l e ’
k- 7
% Un()a \ ﬂ
B ?)L_?(_f\'%)é_x:j\l = - 5?\2—57\ .
Fest ) ) Y 3 23 Ix 1
xZ-IxrAx—QA | - g == 7 /‘
-3(x"% 1x-Y) SENEY)
A4
- 3xF-3% + 8l e B ICH EEEY ~
')
5 q—'/z_



Vertex Fovem
State the vertex. the zeroes. the domain and range. and the end behavior of the following function.
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10. Write a parabola that has a vertex at (-4,4) and is vertically stretched by a factor of -2 in standard form.
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I1. Write a parabola that has roots at -2 and 6, is vertically shrunk by a factor of é, and is reflected over the x-
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12. The path of a placekicked football can be modeled by the function [y = —.026x(x —46) where x is the
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13. For the function y = —x* —6x~7, find the vertex and the axis of symmetry.
a. Vertex (3, 2); axis of symmetry x =3 @' ertex (-3, 2); axis of symmetry x =-3 “N
b. Vertex (-3, 2); axis of symmetry x =4 d. Vertex (3, -2); axis of symmetry x = -4
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15. What is the v(ertex of the graph%(th\éﬁ;n‘&on y=2(x-4)"+6?
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18. If the graph of y = ax” + bx + ¢ opens down, which of the following must be true‘7
M EeaNnS a 1S ﬂejq.

<0 b. a>0 c. ¢<0 d. e=>0
) VAN

19. What is the effect on the graph of the function y = 3x> + 4 when it is changed to y = —3x* +4?
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a. The graph stretches vertically @The graph opens down
b. The graph compresses vertically e. The vertex moves down the y-axis
c. The graph opens up
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21. What is;the vertex of y = -3(x—2)" —4?
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22. What are the x-intercepts of y = =2(x—7)(x+2)?
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